&SF5411A9H

12R T17% - TREZ] FEXR

AR SLEFF/NERR
4= THREZ
B | BE T
T 8 7 % 15 [ 2% [ ok | 4% [ 55 | ok
1 £ |ALT ££51% 8 T2k 1EREVLES 14:35 15:25
2 | £
3 H
4 | B |IRSOTFATIABBIYr—I~12/8 1EHBEVELEESTFHER | 14:50| 1540 14:50 15:40
5 | ¢ |ALT B4 14:50 15:40
6 | /K [/KIEBE ALT REFES 14:15 15:05
7 | K |BHTAF LongBRARAHEBHUVES) 14:50 15:40
s | & ¥AES5~12/22 ALT 14:35 REENR
= |[6EHFEE(RBKAER) 6FEHIARIET14:40~ : i, Fhx
9 | £
10| H
11| B |6FEEPEFFRAS 14:35 REEDZ
12 | Xk |ALT 4FEHFEE 14:35
13 | Kk PKEEBERS MBREEHED 14:15
14 | K [RO9—ILAHoE5—%k$%28 14:35
15| € |ALT 14:35
16 |
17 | H
18| A 14:35
19 | X |ALT 14:35
20 | /K |/KBEHEES ALT 1&EEHY 14:15
21 | K 14:35
2| € | ALT 14:35
23| £
24 | H
25 | B [FHE4 #wrERX 13:00
26 | K
27 | kK
28 | K
2% = ZHAKRE
30|
31 H

K*SADEEDFIEEHELAIE. 1B (£)TY,51FRELELEL. TREDEBYTT,
3F4%---8, 900H
6FELE£---8, 700M

14E4£---8, 600M
4% 5% ---8, 900M

284 ---7, 900H
5&4---9, 700M




